B VCE & PDF https://lwww.geekcert.com/1z0-1064-20.html
' 2024 Latest geekcert 1Z20-1064-20 PDF and VCE dumps Download
: GeekCert.com

170-1064-209%A8

Oracle B2B Service 2020 Implementation Essentials

Pass Oracle 1Z0-1064-20 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.geekcert.com/1z0-1064-20.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 120-1064-20 Dumps | 120-1064-20 VCE Dumps | 1Z0-1064-20 Practice Test 1/3


https://www.geekcert.com/1z0-1064-20.html
https://www.geekcert.com/1z0-1064-20.html
https://www.geekcert.com/1z0-1064-20.html

VCE & PDF https://lwww.geekcert.com/1z0-1064-20.html
2024 Latest geekcert 1Z20-1064-20 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

What three things should you do once you have established a global default coverage?

A. Createan ESS job to Monitor Service Request Milestones.

B. Create an ESS job to Aggregate Service Requests.

C. Use Application Composer to configure warning emails about milestone compliance events.
D. Use Application Composer to include milestones on the Service Request Layout if desired.

Correct Answer: ABD

QUESTION 2

You created two assignment rules for service requests using the Use Score option. For some service requests both
rules return a result with the same total points.

What will be the expected result in the assignment of a queuefor these service requests?
A. An error will occur; no queue is assigned to the service request.

B. The queue defined in the first evaluated rule is always assigned to the service request.
C. The queue defined by default is the one assigned to the servicerequest.

D. The service request assignment will be unpredictable.

Correct Answer: B

QUESTION 3

Immediately after your production deployment of Engagement Cloud your users report that the media toolbar is not
being displayed.

Which are two reasonsfor this behavior?

A. You have not enabled the Computer Telephony Integration (CTI) service.

B. The only toolbar enabled is the default one, and you must configure at least two.

C. You did not enable the vertical toolbar which is required, while the horizontal is optional.
D. The signed-in user does not have the appropriate access privileges to a toolbar.

E. You entered a toolbar height that is not more than 70 pixels.

Correct Answer: AC
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QUESTION 4

You have just created a new Digital Customer Service (DCS) application and now you need to add a user-registration
option.

Which three steps should you perform to configure userself-registration in your DCS application?

A. Configure the self-registrations to restrict registration to only existing Contacts.

B. Configure your self-registrations so that they are automatically approved.

C. Enable the self-registration steps in the"Manage Digital Customer Service Registration Profile Options" task.
D. Disable the anonymous access option in your DCS application.

Correct Answer: ABD

QUESTION 5

Your client has already established a product catalog of sales products and now wants to include service products to
categorize service requests. You suggest the creation of a newcatalog.

What are two advantages of creating a new service catalog instead of using an existing one?
A. requires less work and effort

B. allows use of a simpler hierarchy

C. allows the display of a product hierarchy specifically for service purposes

D. allows you to use the same product hierarchy as sales

Correct Answer: AD
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